CSDA|2|=

Unit Type CSD

E2l 158

Al 7|E 159

FEEINEE Y
AR 159
CSD-ZUH glgi ....................................... 160
CSD-2UH Z|ZTE +ovvveveerssernssnnssnasensenssnnanne 160
CSD-2UF QB oreeressrsssrsssssssnsssisssissnians 161
(€0 B U] - 1E-5 : e
Zegys
B AERIA|ARA -
10T NS CTE TP P — 162
JEE3 162
S&7|sE3 163
2EEa 163
Z=Z2E3 163
oustedEs 164
E82EM 166
A|A|Hflof ALk 168
7| AHHE= 169
ZUAT 170
Z|EO} ZTHE T oo 171
83t 172
A7 172

Hg AR 173




Engineering Data
Hu 22y N

Component Type
o.M |mr jH oY

L

=

=2 E

[

S Ef
ol
o

Differential Gear
N |HO

L 7]
it
ce
o E
T g
© Ol
L d
()

158

Unit Type CsD I

E 2l
=1 O

CSD-2UF

CSD-2UH

CSDAI2|Z FUEEIYS #2

B CSDA[2|= fLEEIY

22 &S 21 U= FHEO|E2RO0|L &5 RFE00|ME 2L 4 U

A

™ M
L Z|Ch5t 20| 27D WY, MTHHZAA0ME AlAEII0] £O|
A3 SOl 0|92 2oe 0| 2753 gLt

BH2Set0]5 e CSD Al2|ZE 0§ 2 ZHES Aol 270 CfS5o
7| HEC| 45 452 RAISBIN LS BAS AHsIISLIC

CsDAI2IZO| £
mHLE - 4B O30l
w337z

m2HERY

£33 B0 2518 UP

a3 158 -1

CSD-2UH

MEeiAZetl

Clal \\“EEE = S0 = ol ef
o
=1 | ]
4
AZAEY
EE zaiazao)

CSD-2UF
ABiA B2l
22Z27
= ol A2 olef
A
Zyng2jol
J2AEY
o2 E




Unit Type CSD

CSD-20-100- 2UH - A}F

v

.
esecseccessecscsccssecses

secesesseseseccscssececces teccccecececcscace
.

4......
4....-.........

H 159 -1

14 50 100 —
17 50 100 —
- blal ois 20 50 100 160 2UH : SLIEEIY (81 14~50)
: 2HF5 A3 ALO| N S 9|9 BRE
D 5}53 :aToT}HI® 25 50 100 160 2UF : 228 122 22H|0jd 822 g") A' ;4”3;} Hi So ExAer
S ~ N - Al ds S SFAY
32 50 100 160 UP St EFY (31 14~40)
40 50 100 160
50 50 100 160

(F) BSHIE U - A0IEAHHR0E], 1Y : NEHAS2RI, 22 SUAZ2I0I0 ZRE LEHLCH

AL ZH 0|t e

AR
W CSD-2UH H 159 2
. 58z 8T YA
r/min r/min
Nm kgfm Nm kgfm Nm kgfm Je|AgEt Je|Agst | (x10 -~ 4kgm?) J(x10-5kgfms?)
50 37 038 12 12 48 0.49 24 24
14 100 54 0.55 19 1.9 7.7 0.79 35 36 8500 3500 0.021 0.021
50 1 1.1 23 23 18 19 48 49
17 100 16 16 37 38 27 28 71 7.2 7300 3500 0.054 0055
50 17 1.7 39 40 24 24 69 7.0
20 100 28 29 57 5.8 34 35 95 9.7 6500 3500 0.090 0.092
160 28 29 64 6.5 34 35 95 9.7
50 27 2.8 69 7.0 38 3.9 127 13
25 100 47 438 110 1 75 7.6 184 19 5600 3500 0.282 0.288
160 47 48 123 13 75 7.6 204 21
50 53 5.4 151 15 75 76 268 27
32 100 96 10 233 24 151 15 420 43 4800 3500 1.09 1.1
160 96 10 261 27 151 15 445 45
50 96 10 281 29 137 14 480 49
40 100 185 19 398 41 260 27 700 71 4000 3000 2.85 291
160 206 21 453 46 316 32 765 78
50 172 18 500 51 247 25 1000 102
50 100 329 34 686 70 466 48 1440 147 3500 2500 861 8.78
160 370 38 823 84 590 60 1715 175

W CSD-2UF #1159 -3
2124 2000r/min J|E-HRA] maHsE S| segadd
x| H2Ea signasa sz =
r/min
Nm kgfm Nm kgfm kgfm S5 Je|ARE

50 3.7 038 12 12 48 0.49 24 24

14 100 54 055 19 19 77 0.79 35 36 8500 3500 0021 0021
50 T K 23 23 18 79 48 49

7 100 16 16 37 38 27 28 71 72 7300 3500 0.054 0055
50 17 17 39 40 24 24 69 7.0

20 100 28 29 57 58 N 35 % 97 6500 3500 0.090 0.092
160 28 29 64 65 34 35 9% 97
50 27 28 69 7.0 38 39 127 13

25 100 47 48 110 11 75 76 184 19 5600 3500 0282 0.288
160 47 48 123 13 75 76 204 21
50 53 54 151 15 75 76 268 27

%) 100 % 0 233 24 151 15 420 43 4800 3500 1.09 11
160 % 0 261 27 151 15 445 45
50 % 10 281 29 137 14 480 9

40 100 185 19 398 41 260 27 700 71 4000 3000 285 291
160 206 21 453 46 316 2 765 78

Engineering Data
HU 24wy N

o.M |mr fHoY

Component Type

Unit Type
.M mLHo

Differential Gear
Ny |HO

emneoN

Gear Head Type

159



Unit Type CSD

z7|
ot
CSD-2UH2IE T
gzl. I (=]
-3 3% 160 -1
]
g
ks)
c B
Ll c R-@S
E D
J @]
| =] |
o H
Q9 = 3 ’:\\: A4 4 T ’E E -:C(
,E‘E S8 N 318 sls
cd i
£ e
o E} O n
Qo]
Eg
o I
- L z
=
ve B o
o HAMAAE HYAISEE SHOIst0) FAAIL, Ml
= ll'E'I %9 0| A H|2]|0|Ef2] A2 064W|0|2], 12I064-28 S ZZ510] THUAI2,
E — *x 2 Z0 HZ2YH(FZRE, 7|1A7t33)0l T2t S22 CHEUCH 32 B2(7F gle 2|42 32t0|| CisiM = HRs 32 E2/ot0] AL,
) E|I'
o
o
CSD-2UHZ|+H
= 160 -1
el - mm
3
€ 14 17 20 25 32 40 50
oA N7 55 62 70 85 112 126 157
B 25 265 29.7 37.1 43 51.7 625
C 23 245 277 34.1 40 477 585
D 2 2 2 3 3 4 4
| E 05 05 05 05 1 1 1
5 C OFh7 25 495 58 73 % 1085 136
8 o 0G H7 1 15 20 24 32 40 50
=l OHH7 i 1 16 20 30 32 44
.g A @I H7 12 14 18 24 32 36 48
c = ) 31 38 45 58 78 90 112
@ 7| oK h7 55 62 70 85 112 126 157
Lo L 5 5 5 55 55 6 7
= M 173 178 178 269 253 348 32 8
D 102 -1 02 102 -9 02 2 02 02 R 0.2
N 1438 163 188 23.7 306 36,5 443
0 438, 53, 523, 633, 869, 103 5§, 127 3,
P (PCD) 17 21 26 30 40 50 60
2Q (PCD) 49 56 64 79 104 175 147
R 6 10 12 18 18 18 2
s 34 34 34 34 45 55 66
T 4 ! 4 4 4 4 4
I u M3 M3 M3 M3 M4 M5 M6
w 7| oV (PCD) 25 27 34 42 57 72 88
2 w 10 8 3 3 10 10 10
= (_)1 X M3x7 M5x8 M6x9 M8x12 M8x12 M10x15 M12x18
o | oY 38 45 53 66 86 106 133
= Z 3 3 35 45 5 65 75
T 2% (ko) 035 046 0.65 12 24 36 69
—
© ol
0 =
U]

160



CSD-2UF2|8 =

Unit Type CSD

a8 161 -1

[

*AMLE HUMNSEES
590 HLIAO[E1] HAS 064T0]2|, T2064-28 B 22510l FUAIL.

HEFO| HMZYY(FZEF, 7IA7tSE)0l et St ChELE 32k B7(7} gle 2140] Sakof tisiM =

QI h7

S01510 AL,

kx

~ ~ ~~
T | o —Tr—Tm - I|c
Q| V| . S o<
IS [SIRSE
= ~N
) S
==
K=
J K
et

Lo 32 2ol5t0f

of

CSD-2UFz|4H

161 -1
£l mm
=0
s 14 17 20 25 32 40
@Ah7 70 80 90 110 142 170
B 22 227 26.8 315 37 45
C 05 05 23 2.1 238 6.5
@D H7 48 56 64 80 106 132
OF H7 1 15 20 24 32 40
oF 9 9 18 22 29 37
@G H7 30 34 40 52 70 80
OH 49 59 69 84 110 132
@Ih7 70 80 90 110 142 170
J 49 54 48 55 6 7
K 25 25 25 3 3 3
L 12.9 134 16.8 19.5 22 27
M 2.8%%2 2.8%%2 2.8%9? 3.4%? 35%9? 36%97
N 43 581 524, 63 8, 86 01 103 §4
@0 (PCD) 17 21 26 30 40 50
P 4 4 4 4 4 4
Q M3 M3 M3 M3 M4 M5
@R (PCD) 64 74 84 102 132 158
S 6 8 8 10 10 10
QT 34 34 34 45 55 6.6
@U (PCD) 42 50 60 73 96 116
v 8 10 8 8 8 12
w M3x5 M3x6 M4x8 M5x8 M6x10 M6x10
X 34.5%0.80 38.0x1.50 S48 S60 S80 $100
Y 49 .0x1.50 59.4x1.20 S70 585 S115 S140
(014 38 45 53 66 86 106
212¢ (kg) 0.50 0.66 0.94 17 33 5.7

Engineering Data
HU 24wy N

o.M |mr fHoY

Component Type

Unit Type
.M mLHo

Differential Gear
Ny |HO

emnet N

Gear Head Type

161



Engineering Data
Hu 22y N

o.M |mr fHoY

Component Type

Unit Type
.M mLHo

Differential Gear
N |HO

emnekoN

Gear Head Type

162

Unit Type CSD

(8010l Tt dY2 V|eA=.E A2ot0l FHAL )

162 -1

—— x10rad 44 44 29 29 29 29 29
arc min 1.5 1.5 1.0 1.0 1.0 1.0 1.0
S|AHIZA|AZA e P TS
H 162 -2
& ad 14 17 20 25 32 40 50
- ol
5 x10%rad 73 44 44 44 44 44 44
arc min 25 15 15 15 15 15 15
- x10%rad 538 2.9 29 2.9 29 29 2.9
arc min 2.0 10 1.0 1.0 1.0 1.0 1.0
28 (AZAS) I o Y
B 162 -3
) St
&= ael S= 14 17 20 25 EY) 40 50
5 Nm 2.0 39 7.0 14 29 54 108
kgfm 02 04 07 14 30 55 11
N Nm 6.9 12 25 43 108 19 382
kgfm 07 12 25 49 11 20 39
‘ x10'Nm/rad 0.29 067 1.1 2.0 47 838 17
kafm/arc min 0.085 02 032 06 14 26 50
‘ x10'Nm/rad 037 0388 13 2.7 6.1 1 21
kgfm/arc min 0.1 0.26 04 0.8 1.8 34 6.3
28| N x10'Nm/rad 047 12 20 37 84 15 30
50 kgfm/arc min 0.14 034 06 1.1 25 45 90
x10%rad 6.9 538 6.4 7.0 6.2 6.1 6.4
& arc min 24 2.0 2.2 24 2.1 2.1 22
x10%rad 19 14 19 18 18 18 18
& arc min 6.4 46 66 6.1 6.1 59 62
“ x10*Nm/rad 04 0.84 13 2.7 6.1 1 21
kgfm/arc min 0.12 0.25 04 0.8 1.8 32 6.3
G x10'Nm/rad 0.44 094 17 37 7.8 14 29
kgfm/arc min 0.13 0.28 0.5 1.1 23 42 85
2t ‘ x10'Nm/rad 061 13 25 47 1 20 37
1000]¢ kgfm/arc min 0.18 0.39 0.75 14 33 5.8 11
o x10%rad 5.0 46 54 52 48 49 51
arc min 1.7 16 1.8 1.8 17 1.7 17
o x10%rad 16 13 15 13 14 14 13
arc min 54 43 5.0 45 43 43 46
(F) 2 BO| /2 B UUTt, oF5gh2 Thek HAIZH2] 80% LTt
(Z01{0ll CHst HH2 7|S2t2 & 22010 THUAIR ) ORI EL| ZH2 AFE R 20| T2t THE4 QB 2 Ao 2 AMESI0] FHAIR
H 162 -4
W CSD-2UH k2l T cNm
=]
ot - 14 17 20 25 EY) 40 50
50 44 6.7 8.9 16 32 55 102
100 28 38 5.1 9.1 20 32 60
160 — — 39 72 15 26 47
H 162 -5
W CSD-2UF ool cNm
=]
) - 14 17 20 25 EY) 40
50 53 75 9.7 17 34 58
100 32 42 55 96 21 33
160 — — 41 74 16 27




s57|S5E3 [EXEEE

Unit Type CSD

Y2 rez,g

YZ5I0 FUAIR ) ORHEL| Z2 AL,

2700 02} 184 Yooz

HEHEENECIESIEY

H 163 -1
W CSD-2UH o9l Nm
i :
24| 14 17 20 25 32 40 50
50 29 43 52 95 19 33 61
100 35 46 6.0 11 23 38 71
160 — — 7.4 13 30 48 89
H 163 -2
B CSD-2UF Biel N
e
24| 14 17 20 25 32 40
50 33 4.7 5.6 10 20 34
100 39 50 6.4 11 24 39
160 — — 7.8 14 31 49
E | PIEE N (200 cfst a2 mieatz 2 #2510l 2HAI2 )
H 163 -3
Tkl Nm
e
24| 14 17 20 25 32 40 50
50 88 150 220 450 980 1800 3700
100 84 160 260 500 1000 2100 4100
160 — — 220 450 980 1800 3600
H 163 4
CHel : Nm

190

560

1000

2200

4300

8000

Engineering Data
Hu 22y N

o.M |mr fHoY

Component Type

Unit Type
.M m_CHo

Differential Gear
eNuxE|HOa

emnet N

Gear Head Type

163



Engineering Data
U 24y N

o.M |mr fHoY

Component Type

Unit Type
.M mLHo

Differential Gear
N |HO

emnekoN

Gear Head Type

164

Unit Type CSD

2 3t AEfoIA StRYC 20| 05 B|HAI7|7| I3
Y (D452)9 EIE TELIC

=
=

H 164 -

2£H1100

SHEL2|A® SK-1A (FH 2004

. mEES 2 — e
o8z ooy S22 A SK-2(HB14,17)
o coy  |Hg=sg
E7/2 2000r/minOflM 2 A2t O ¢ A|2ASH F9f ZtiLTt
F45H] 1002 RESHHYED
W CSD-2UH
3| & E 500r/min AHS| A5 1000r/min
24T 164 -1 J2HT 164 -2
10000 10000
1000 1000
§ Bl § Bl
S S
m m
Y 100 W 100 [~
30 J0
z 501 L 50
1o 60 1o 160
L - 15 i 20] ®
- - ok -
\ ~_| 32 \ —
10 = 10 25
204
201 —
T~ 17
——17, 141
1 1
-10 0 10 20 30 40 -10 0 10 20 30 40
2%(¢) 2%(¢)
ol243| M4 = 2000r/min US| HE T 3500r/min
24 164 -3 2 164 -4
10000 10000
1000 1000
= =
c 2 z il
m \ m \ T 50
%'j) 100 507 %Ho 100
_r{]__._J 0] _I'l']__._J 40
n 0 n 32| W
o+ 32 ok —
10 10 201
=
147 4
1 1
-10 0 10 20 30 40 -10 0 10 20 30 40

2£(C)

2 D2)IO| ZH2 W gk XYLITH 0=Xx0.2




Unit Type CSD

[
&7
38
W CSD-2UF
ot
£a
]
) 7]
AAS| ML L 500r/min AUHZ| ML= 1000r/min %
22T 165 -1 24T 165 -2 c
10000 10000 L
1000 1000
= = [
Z 3 Z 3 v H
m m So
W 100 W 100 ~
J0 30 +— L
B ! cC
- pirig v E
1) 160 1o 70 60 c—
o+ 40| o+ O E}
o- > o- 32 3 o)
10 >~ — i 10 >~ — 25 g -
257 )
201 201
17: 17
— 14 4
1 1
-10 0 10 20 30 40 -10 0 10 20 30 40
2&(C) 2E&(C)
[
28
A3|HAE 2000r/min AZ3|HAE 3500r/min =L
10000 A 10000 e =
S EL
ol
1000 1000
= =
& Eill < 3
m m
W 100 W 100 ~
J0 J0 =
ol il 40
o 401 = - [
s 1180 I 32 | ™0 - EI
ak 32 ok I~ 8 T
\ —— 25 \ 25 O —
10 10 20 < &l
20 ] =M
- 171 23
141 14 o 7|
% Y
1 1 ()
-10 0 10 20 30 40 -10 0 10 20 30 40
2&(C) 2&(C)
e Jefmo| Zhe WHat XYLICH 0=Xx0.2
[
) 7165 -1 4
B ZSHE BEEY PESIHLED BY €l - cNm > 0f
st Cajo|8 0o 2RI E 3= 240l tatd ChEUCH as aU; A = Gl
KT 164-1 ~ 165-4= 2t4H| 1009] ZFQL|Ct. L 50 160 50 160 8 =
2 9lo| Z4H|of thahAE B 165-10) EAIE BHYS 7HIIM 75101 o 02 - e - Tg
ane 17 15 = 138 — _ E}
=0 20 +23 -0.70 +26 0.84 © ol
- : : k 0 =
25 438 12 +43 13 G)
32 +73 22 +82 25
40 +12 36 +14 42
50 +22 64 — —

165



Hu 22>

Engineering Data

Component Type
o.M |mr jH oY

Unit Type
.M mLHo

Differential Gear
NuxErZ|HO

emnekoN

Gear Head Type

166

Unit Type CSD

3z

Ao

H 166 -

2y  |2uzyuE=

HilE3

AR LIEHH ZHES (159T0|2])

*ESIEAI HAEIRCI A
ofefofl 7|el EEEYASE

F20il= 2289 20| GojgLct.
2510 FYUAL.

. |stRYI2IA® SK-1A (#2004
eaza | & | %¥ ogmervsc @)
e T EPEa:
HAZAEIAC &8
W CSD-2UH
¥ 14 1 Z44H[ 50 dH 14/ Z44H[ 100
23 166 -1 22 166 -2
100 100
90 90
80 80
70 70
W/; 500 ;/
:\5 60 100 l ;\5 60 000N /
o 20006 o
o 50 : L W 50 2000y
3500¢fmin|
3%
40 40
30 T 30 A
20 20
10 10
-10 0 10 20 30 40 -10 0 10 20 30 40
E==(o) 2%(c)
S 17~50/ Z+4H| 50 ¥ 17~50/ Z+4H[ 100 & 20~50/ Z4H| 160
T34 166 -3 24T 166 -4 224z 166 5
100 100 100
90 90 90
80 80 80
| 500
500/mist—__—— / 500[/@9'/
70 g 70 ToggwT —— 70 =
—~ zoogunﬁ// R 200gsAfM . 000
< 60 2 60 2 60
Bﬁ 3500¢/Min M 3500#Min M / P00QgAfin /
oj 50 o 50 o 50
40 40 40
30 o= 35% 30 o= B% 30 o= B%
20 20 20
10 10 10
-10 0 10 20 30 40 -10 0 10 20 30 40 -10 0 10 20 30 40
25(0) 25(0) 25(0)

w2 J2HIO| 2H2 Wk XYLITH 0=Xx0.2




Nl (it Type CSD

W CSD-2UF
& 14/ 2444 50 & 14/ 224 100
a3z 167 -1 a3z 167 2
100 100
90 90
80 80
70 70
P
500¢/mi —— S00r/in1 1 —
g 00 [ —1 g 00 000
< T00Qe <
o /ﬁ)[;;tm// o //M//
ol 50 . of 50 0007
3500%#Ain| 5000
40 40
30 = 8% 30 7 o= B%
20 20
10 10
-10 0 10 20 30 40 -10 0 10 20 30 40
25(C) 25£(T)
¥ 17~40/ Z4H| 50 ¥ 17~40/ Z45H[ 100 ¥ 20~40/ Z4H| 160
a2z 167 -3 24m 167 -4 a2z 167 -5
100 100 100
90 90 90
80 80 80
—
— 500 | —
70 UL S 70 o 70 W
TOUI n
T00Qser /
- /ﬁ// - ZOW - 10W /
* 60 3 60 3 60
(\)ﬁﬂ 3500 EN] B500pfin Ekﬁ /ZW
i 50 i 50 of 50
/ 35005
40 / 40 40
30 — 30 = 8% 30 o= 3%
20 20 20
10 10 10
-10 0 10 20 30 40 -10 0 10 20 30 40 -10 0 10 20 30 40
2%(c) 2%(c) 2£(c)
xg efmo| gt H LICH 0=X%0.2
mESEEAS B TS EAA A
SSIETI YHET B} A2 A= 2840 BO{YLICH TESIERV YAEIEC} 22 F2,0 E82 O30 AlLtAo) w2t +6t0]
J24Z167-6, 167-72] E2EEAs I ERE BEA S KeS ot Cf  FHAL,
S AMOE 212 588 AlMGSHH FHAIL. HAHAL 167 -1
X—rO}EEM@’—‘!EEE}—E%‘—?—OI E8HY4E Ke=10| ELC} _
28n=Kexn,
EdHjoes RolE3/YHED (YZHHE 1 159T0(7]) o] ZiYLCt. A 167-19] 7|5 167 -1

28

ESTEAR

21 167-6, 7 22

PEEENPEE]

J2Z166-1~167-5&F

CSD-2UH iz 167 -6 CSD-2UF  7Jepm 167 -7
1 1 n
09 — 09 — Ke
08 b 08 g
¢ 07 207 nR
< 0.6 <+ 0.6
T 05 T05
RO 4 RO y
N I Hoa / HAk|
0.3 0.
0.2 0.2
A
0.1 0.1 Oﬁl_r_ﬁ‘ |7\d

E3H|a

0
0 010203 040506070809 1

0
0 01020304 0506070809 1

==Ll

CSD-20-50-2UH € 02501 0[5te| ZAUM2| 2:8n (%) E

: 1000r/min

2BYH : 12ARE

2EEYAI4Ke 1 0.95(

25t

E|>

Lt
S51E3 1 13.6Nm
s8x2E : 20C

E3H|a=13.6/17=0.8), 22X 167-60{|A

F8n(5)=0.95%62 (122 166-10ilA)=58.9%

Hu 22y N

Engineering Data

o.M |mr fHoY

Component Type

Unit Type
.M mLHo

Differential Gear
Ny |HO

emnet N

Gear Head Type

167



Engineering Data
Hu 22y N

Component Type
o.M |mr jH oY

Unit Type
.M mLHo

Differential Gear
N |HO

emnekoN

Gear Head Type

168

Unit Type CSD

2| R|H|O{ AL
FUEEIYS ol 2a (2AZUL) 0 A A2 B2 YU IRAZ2HORIZ AR .
RUEERIS 852 25| LFIAP|7| I3 2/HLHRUESS, A2AZ2{H[012] 2 Y YHOIHZSES BoIst0] FUAI2.
2} GlOJE{2| A/AHALR 030 ~ 034TH0|R| T7|£ AR, S HE50] FUAIL.

_O'E
o]
o
>
i
in}

W 2| R|H|O{ AL
JZ2AEL{H|0JE AIXS H168-1, 201 LIEHAASLICE.
W CSD-2UH H 168 -1
S 82UESIE Mc 2UEZE Km 3122)0/C/2!
x104 kgfm stafr
Nm kafm .
Nm / rad / arc-min 2 X102N
17 0.0425 0.0099 529 540 755 770 64 6.5 7.75 23 1.3 7.58
20 0.050 0.0102 57.8 590 90 920 91 93 12.8 3.8 12.4 8.28
25 0.062 0.0130 96.0 980 151 1540 156 16 242 7.2 20.5 13.8
32 0.080 0.0144 150 1530 250 2550 313 32 539 16 32.1 215
40 0.096 0.0151 213 2170 365 3720 450 46 91 27 45.6 30.5
50 0.119 0.0192 348 3550 602 6140 759 77 171 51 744 499
| CSD-ZUF H 168 2
HBSUSBSMc sgajo|c/
StEFr
i il Nm / rad / arc-min 3 10N
0.050 . E . 12.8
17 0.060 0.0123 104 1060 163 1670 124 12.6 15.4 46 222 149
20 0.070 0.0128 146 1490 220 2250 187 19.1 25.2 7.5 31.2 20.9
25 0.085 0.0140 218 2230 358 3660 258 263 39.2 11.6 46.6 312
32 0.111 0.0168 382 3900 654 6680 580 59.1 100 296 817 54.7
40 0.133 0.0215 433 4410 816 8330 849 86.6 179 532 92.6 62.0
7|2 E2otE012 Hojle] 71283 240| 1002 30 =25t 2 HA| \’—ﬂolr-l%*%%s% %E Uk,
7|2 EEAIZ012 25l ES W Q= MEH2t A= Y2 SU0| A0IM YYLFO| ESH (4kN/mm?) 0] Y4 & tho| FotES LELICt

K SBRUEsHZ0l2t 22H{0{20] Zels AYSHEFIZOR o] Helol 712452 LA/3t0 T2t 3 ZRlLict.
HRUEZAA|E YUIC} SIS T2t BAI2I2] 80% YUt
#5180|C|Us1Z, 5| SULTIBO|2t F20] 243t 20|C|UIE B2 HEoIZ Hols ZR0| 227| £YS BEAP|E 2L (210 YSHES Lr+R=0mm, %&5}E (a=0mm 2| 2



Unit Type CSD

7| AHEE

FLEEIYO] 7|A1H YEE LIEFELIC

U : gJo[EA|H={0l&
23 NEasee
1% BYAZl
B CSD-2UH 1% 169 -1
7| d
= 1 @]
7] b} ]_
#la =
@
Al c
[[e]
169 -1
CHel : mm
=0
_ = 14 17 20 25 32 40 50
7|5
a 0.010 0.010 0.010 0.015 0.015 0.015 0.018
b 0.010 0.012 0.012 0.013 0.013 0.015 0.015
c 0.007 0.007 0.007 0.007 0.007 0.007 0.007
d 0.010 0.010 0.010 0.010 0.010 0.015 0.015
e 0.025 0.025 0.025 0.035 0.037 0.037 0.040
W CSD-2UF 02l 169 -2
Z|d
i
1#[b]
@]
@]
a
(i
]
—zl <
?,7,7/;77/ (7] e]
169 2
oo mm
S
- Se 14 17 20 25
7|5
a 0.010 0.010 0.010 0.015 0.015 0.015
b 0.010 0.010 0.010 0.010 0.013 0.013
c 0.010 0.010 0.010 0.010 0.013 0.013
d 0.010 0.010 0.010 0.010 0.013 0.013
e 0.031 0.031 0.031 0.041 0.047 0.047

Engineering Data
Hu 22y N

Component Type
o.M |mr HH oY

Unit Type
.M mLHo

Differential Gear
eNuxE|HOa

emnet N

Gear Head Type

169



Engineering Data
Hu 22y N

Component Type
o.M |mr jH oY

Unit Type
.M mLHo

Differential Gear
eNuxrE|HO

emnekoN

Gear Head Type

170

Unit Type CSD

(=]
Aol ACIA FFHO| HA S S2UBH 0| YO|Lt 225k 2T

2Y4 AS I HsE Aot Al UASUICE
St2HC2l0|B00t Zt= 245 H5E E261 LRIAI717] fleiM= CH32t 22 ZE Folst0f & 170-1- E170-1, 20f LIEtH REstRA0 24 Y
2E 510 SR8l HAHIE oo FHUAIL.
03| Ho| Y
00|52 ST
03|21 Lo B (Burr), HY, 2|9 0|4
03FoI=R0 H B
[ Bl e] 1._|°J59| Ol4
ZESIRAL UYL %170 1
CSD-2UH CSD-2UF
oA B0
4]
— _
!
N0
‘ A
=3 5t
0 T =
0 le.
k: 3 = _OoHa
5 —
H7 [ _ﬂ
L[ b [A] L[ b [A]
EYEREE V= ] 2ojEA|H2i|0]5 =&
232k h6 232k h6
_ . 170 -1
CSD-2UH 2Yst9A0| 2HH T CR)
i
e S 14 17 20 25 2 40 50
(k=2
a 0011 0015 0.017 0.024 0.026 0.026 0.028
b 0.008 0.010 0.012 0.012 0.012 0.012 0.015
0c 0016 0018 0.019 0.022 0.022 0.024 0.030
_ - 170 2
CSD-2UF ZZI5IRA0 ZHAHEC ool mm
2
e 14 17 20 25 2 40
(k=2
a 0011 0015 0.017 0.024 0.026 0.026
b 0.008 0.010 0.012 0.012 0.012 0.012
Oc 0.016 0018 0.019 0.022 0.022 0.024




Unit Type CSD

Hu 22y N

(48]
3
a
z| = [
|Fet MEED
o)
[
2171 -1 =
]
CSD-2UH CSD-2UF c
seas =
Ll
L — :I
—
T ] )
sloA= o
SIRAZ >
EYEMYS - =
—
c
@
S
= I = 0| 2|H
m SUTM| 20| 3|20} HLED 2
B CSD-2UH 217141 g
el )
se 14 17 20 25 EY) 40 50
ZEX 10 8 8 8 10 10 10
SEAO|R M3 M5 M6 M8 M8 M10 M12
E2EZEPCD mm 25 27 34 42 57 72 88
sy Nm 24 108 184 44 44 74 128
kgfm 0.24 1.10 1.87 45 45 76 13.1
seAges Nm 50 122 217 486 824 1665 2933 r——
kgfm 5.1 124 22.1 496 84.1 170 299
(0]
o
>
W CSD-2UF #1712 =
24 14 17 20 25 32 40 g
= >
SEF 8 10 8 8 8 12
EE M3 M3 M4 M5 M6 M6
EESPCD. mm 42 50 60 73 % 116
sexz=a Nm 24 24 54 108 184 184
kgfm 0.24 0.24 0.55 1.10 1.87 1.87
weagEa Nm 70 104 167 329 765 1109
kgfm 7.1 106 17.0 336 78.1 113
W 5IRAS0| Rt MUYET
W CSD-2UH H171-3
L
= 14 17 20 25 EY) 40 50 -
E=ES 6 10 12 18 18 18 22 8
SEAO|R M3 M3 M3 M3 M4 M5 M6 =
SEZLPCD mm 49 56 64 79 104 1175 147 -L—D
_ Nm 24 24 24 24 54 10.8 184 c
E_ ﬁE
EEA kgfm 0.24 0.24 0.24 0.24 0.55 1.10 1.87 %
sengEa Nm 43 82 112 207 461 833 1804 e
kgfm 4.4 8.4 114 21.1 47.0 85.0 184 a
W CSD-2UF BE171 4
Bl
se 14 17 20 25 EY) 40
ET=ES 6 8 8 10 10 10
ZEAO|R M3 M3 M3 M4 M5 M6
SEZSPCD. mm 64 74 84 102 132 158
scyzea Nm 24 24 24 5.4 10.8 18.4
kgfm 0.24 0.24 0.24 0.55 1.10 1.87 W
o
sexgen Nm 80 123 140 359 743 1259 >
kgfm 8.2 126 143 36.6 75.8 128
©
[g0)
(B171-1 ~171-4/ %) %
1. YLIAHEC 20| EE HZEIS HC|of & 28 M2 & o
2. ZAUEBEEEQ: ISB1176 SUTYLE, 2L : JISB 1051 12.90/4 o
3. E3A% 1 K=02 &
4. HEASA=14
5. MU ORAIL 1 y=0.15

171

o.M |mr fHoY

.M mLHo

Ny |HO

emnet N



Unit Type CSD

37
© A
| m
£ CSDAl2|2 RUIEEIYS 28 Y¥2 12|~ g8#E BEC2 YU 12| a8 1721
O A5 FYUSHJEIZ Eolot22 ZPA|| 22|23 Y =XE S Ha= 9
= Q'—I':f.
o)
c
- 2|4 gE0ls 213 J2|A0t BIAE(R] Q=% Sl HE2t0|E LIS CSD-2UH CSD-2UF
=S StEHE0[2 00 SHRA WHE Thst 222 St YA a
Q. FHA I HEE|R| o= FR0l= 2OI5t FHAIL.
. =
|:—|—| ol
g =
il
v — — || 2
o =
— % :I e} [= — Q
= S S
v E
L= - I I o
o E}
Qg
Eg
o
)
" 172 1
Cel - mm
S
e se 14 17 20 25 E?) 40 )
(k=2
a* 1 1 15 15 2 25 35
ax 3 3 45 45 6 75 105
— o35 16 26 30 37 37 45 45
43 2 £2-9J0|SAROIED 3143 2
L& sl -2 S UROIE} A 29
>
= _
=E W 7|E} F2|Abet
c S0 =urat
S Ef QoIEA|H0[HE ST &2 st (048 012], 07 048-3 &) 22
o *f%%* FF, YOIEAH2]0[E2t YA (LEISTA) k0] 50| 22|A5
2 25| EE5H0 FAA L.
n %.ogﬁm - ETEN
YU A8 J2|A= CHELICH TH39 d2|A HERE 2510 YA,
LBl AFZ 0= SK-1AL}F SK-25 S -TL|TH 12| A0] Tish HMUE2
016H0|A| T7|22t=, 5 #2510 FHAIR.
Je|AXSHH T 1722
I B 14 17 20 25 32 40 50
—r SK-1A - - O O O O 0
1T SK-2 O (©] A A A A A
O E_il 4B No.2 = 0 0 0 = 0 0
© = %0 | BE2I2lA
'E’ *Eq AL EREZI2A
o 7| 0@ 349 9 28510 29 2802)
Y
L
=
[a)
W7) 7
J2|A &R Y stRYER0|E 0o AUFEES |AISH| «I5t0] O5te]  RLIEEIYS| Adlast 24 HE &Y 1723
28 717t AU .. wmes 23402 vy
§.|Z|_'|§%—‘f'— ........................................... EOEIAQ( JI'%)IEI.‘O:’I) Ol 75!_?_5%9'
= =] EXIE= =20}0| 1 0l 224 Z;
B2 50l 20|51 RAA|2 il EIEIC N
- - _ . 2l 7} Qe LIAF DA A
D 2o 2R, TYUER o3, M. 0 FP BRo| s L oz
L 7] 289 O |50 FHUAIL ETRRE PN (FAHZHD)
= 0f QUM BHEIQIS M50 FYAIL.
- 3‘" |_|.A|.__|.LI:C),-|_!?'_ ........................................... IQE.I o_TI_|-7|- Q= |_|-,k|-_TI_7C-’IZ1| (EE} Qla= [ QUM0| Ols AR DE 2223
= 0| 242 £3)EE 4 H0|ZS o 2UYS 2YBH= 22 510 24
g A A2,
_ Ef <
© o]
&= () 551 24 T2IA% 4B No2 B AIBE 22 47|88 117 T4,

172



o
w
O
()]
S
[ ]
b~
c
>

no O H W] ool OF 7 Wl wrol OHI RS NS BUlwol
1J9auIbug 9dA| Jusuodwo) 9dAl 1uN Jean |enualapidg 9dA] peaH Jean
f w
-]
o
a
w
v
=3
&
b ol
” | o
I =3
ojru
3
0o
0 xr
ey . - o
ol
— ‘nv . S
PN o
U = g
© ¢
| \
= *
+ g 13
L R
i % Al
<]
of
ol L
o
or
XN N W
or
K
H
&N

CSD-2UH

173



174



